N = 0l & At & M A

2015 = = 0lah LB AL IIEISEA, SIESESH KRIlsat

Z_

M RI=s4D

HE: 59 FMY U
ol MRS SY (el @2)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Sl =&t 113,043,741 108,634, 131 4,409,610
= 76,905,452
X 16,784,700
J| 1,112,669
=) 18,240,920
s Zde 25t 112,984,701 108,579, 111 4,405,590
2 76,905,452
Xl 16,784,700
J| 1,112,669
< 18,181,880
AENESY 63,697,305 52,814,037 10,883,268
= 53,737,200
J| 912,669
= 9,047,436
MASSBENZN AL 43,487,100 35,792,510 7,694,590
= 43,487,100
308 MtXIEHMSOIH 43,487,100 35,792,510 7,694,590
= 43,487,100
01 HXNHHNBHELS 43,487,100 35,792,510 7,694,590
OUASEHAZH ALY 43,487,100
= 43,487,100
HASBEASH AL 22/ 312,669 312,669 0
J| 312,669
202 o4dl 10,000 10,000 0
J| 10,000
01 = LH o4 4l 10,000 10,000 0
OUASEHAZH EXXNE 10,000
J| 10,000
308 XtXIEHH SOl A 302,669 302,669 0
J| 302,669
01 X HHILEES 302,669 302,669 0
OUASEMASH AL 22l 302,669
J| 302,669
TAHSUXNEAEN ALY 3,010,000 3,010,000 0
= 2,800,000
< 210,000
308 AHAIEHHSOIA 3,010,000 3,010,000 0
=2 2,800,000
< 210,000
01 HIXNHHNBHNEES 3,010,000 3,010,000 0
OXHECUXNSEEM A 3,010,000
= 2,800,000
< 210,000
2= 4,829,600 3,600,000 1,229,600
= 4,829,600




M RIl=sb
B =9 M L
chelr APR2SY (el @2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
308 At XM SO0I & 4,829,600 3,600,000 1,229,600
= 4,829,600
01 XM BaE2ES 4,829,600 3,600,000 1,229,600
Oegsga=x 4,829,600
= 4,829,600
gsgEN dy22l 75,500 74,280 1,220
= 75,500
201 2Bt Y| 3,000 3,000 0
= 3,000
01 At 22l b 3,000 3,000 0
Ogsga=HM N& 3,000
= 3,000
202 O 4 2,000 2,000 0
= 2,000
01 SLHOYI 2,000 2,000 0
Ogsga=Hd 8XXE 2,000
= 2,000
308 XXM S0l ™ 70,500 69,280 1,220
= 70,500
01 HXHHBAEES 70,500 69,280 1,220
OesgX=H 83yl 70,500
= 70,500
g€sYHEM N2 AL 362,220 270,000 92,220
308 XXM S0l ™ 362,220 270,000 92,220
01 HAHHMZAEES 362,220 270,000 92,220
OLsAXESM XA (XHA) 362,220
=sgEs s X3 2,666,836 2,666,836 0
308 XXM SO0I™ 2,666,836 2,666,836 0
01 XM B EES 2,666,836 2,666,836 0
O=sg2= dsiM X 2,666,836
H ESTUU XA AE 1,189,960 1,218,906 A\ 28,946
308 XXM SO0l & 1,189,960 1,218,906 N 28,946
01 XM BaE2ES 1,189,960 1,218,906 A 28,946
Ol SESXH XE A 1,189,960
ZXtel BANK £ Xl 441,000 432,000 9,000
403 TtXI M S A =01 A 441,000 432,000 9,000
01 TtXIEHH X2 2 & 441,000 432,000 9,000
OX=Xtel BANK & Xl 441,000
SHE F3H SEAMY 55,800 37,200 18,600
= 45,000




2AM: RI=s8H
HE: 59 FMY U
ol MRS SY CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 10,800
308 XXM SO A 55,800 37,200 18,600
= 45,000
< 10,800
01 AXHHBLEES 55,800 37,200 18,600
OSgEEg JSH sdAMd 55,800
= 45,000
< 10,800
HAER0] MAET sS4 331,200 331,200 0
308 XX EHHSOIA 331,200 331,200 0
01 HXNHHBHELS 331,200 331,200 0
OdYEx0 MoK 4 331,200
FHAH 2SI 22 300,000 270,000 30,000
403 UHXSHHSA=0l& 300,000 270,000 30,000
01 HXHMA2LE X 300,000 270,000 30,000
OFAL B22AXD| 2= 300,000
BN 2E€A=0] N2AY 168,000 162,000 6,000
403 MtXISHHE X201 & 168,000 162,000 6,000
01 XM A=2E X 168,000 162,000 6,000
OgMN 245D XA 168,000
SIH LA 3,250,000 1,950,000 1,300,000
= 2,500,000
< 750,000
403 XIS E X201 & 3,250,000 1,950,000 1,300,000
= 2,500,000
< 750,000
01 X SHHA2E = 3,250,000 1,950,000 1,300,000
OsIIA AL 3,250,000
= 2,500,000
< 750,000
2= JdUE sIIH NEAMG 600,000 600,000 0
403 MHXSHHSA=0l& 600,000 600,000 0
01 XM= E L 600,000 600,000 0
OEx= gUE sIIAH XA 600,000
A=A ZH SSAY 300,000 300,000 0
403 MtXISHH S0l & 300,000 300,000 0
01 XM A2E X 300,000 300,000 0
O&sJIHs &H S=AE 300,000
sHY e MHIAHEH 29X 180,000 90,000 90,000
308 XXM SOIA 180,000 90,000 90,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 AXHHILEES 180,000 90,000 90,000

O=s&d e MUlAMdEH 2Z X 180,000
sJH Eg28 A& 90,000 80,000 10,000
308 XtXIEHHSOIA 90,000 80,000 10,000
01 AXHHILEES 90,000 80,000 10,000

OsJIH S&28 X& 90,000
dEd sAHMaE) 25 N2 94,500 0 94,500
403 UHXSHHSA=0l& 94,500 0 94,500
01 XM A= LE L 94,500 0 94,500

Oz sHHaEI 35 XN 94,500
s&=2 MHol2& X3 A 504,320 475,236 29,084
308 XX EHSOIA 504,320 475,236 29,084
01 HIXNHHBNEES 504,320 475,236 29,084

O=szE Mol2& XNJAY 504,320
HESFIM=EEAS 900,000 450,000 450,000

J| 600,000

< 300,000
403 MtXISHE X201 H 900,000 450,000 450,000

J| 600,000

< 300,000
01 X SHHN2E = 900,000 450,000 450,000

OAgsHEINELHANSE (FRISIITL 900,000

J| 600,000

= 300,000
eEHS MACT] ZHALE 80,000 80,000 0
403 A X EHHSH=0IA 80,000 80,000 0
01 X EHHMA=E L 80,000 80,000 0

OELAS MACI ZAAY 80,000
SHY HHALE FHl XA 90,000 60,000 30,000
308 XX EHSOIA 90,000 60,000 30,000
01 HIXNHHNBHNEES 90,000 60,000 30,000

OsHY HEAMS ZH XFAE 90,000
AEHP=E Ml sHEZX B3 14,400 14,400 0
308 XXM SO A 14,400 14,400 0
01 X HHILEES 14,400 14,400 0

OudAs Ml sPHEEXN ES 14,400
MMAs A HE KIS 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 QIZFHALAIH B & 40,000 0 40,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OfNAs A HE X2 40,000
A2ESsHNEsHESEIEY nsXE 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B & 10,000 0 10,000
OXNEEssHHEHEsEe USI2 10,000
=EY HASA dEs0t SN2 300,000 0 300,000
308 MtXIEHSOIH 300,000 0 300,000
01 HXNHHNBHELS 300,000 0 300,000
O=&EY HAESH d=s)t SXNE 300,000
SHRE 23 14,200 14,200 0
201 ¢er24] 13,000 13,000 0
01 At 2t 2l 13,000 13,000 0
Ot & ==&t 13,000
203 YR =2l 1,200 1,200 0
03 MM FAH S Z=AY| 1,200 1,200 0
ORIIsSLRE A =& 1,200
dEIdsg=El 25,957,146 35,858,422 29,901,276
= 19,493,252
Xl 578,700
J| 200,000
< 5,685,194
dtdsgy AEXN=H 1,184,000 849,000 335,000
= 1,184,000
308 MXIEHMSOIH 1,184,000 849,000 335,000
= 1,184,000
01 HXNHHBHELS 1,184,000 849,000 335,000
Oozazdsgy AFX=H 1,184,000
= 1,184,000
ZAzsE sHA =4 777,000 4,136,000 A 3,359,000
X 466,200
< 310,800
403 XSS =0l & 777,000 4,136,000 A 3,359,000
Xl 466,200
< 310,800
01 XM A2E X 777,000 4,136,000 A 3,359,000
OZdzad sgeil =4 777,000
Xl 466,200
< 310,800
dEd sgxe =4 206,250 641,667 N435,417
Xl 112,500
< 93,750
403 XIS E X201 & 206,250 641,667 AN435,417




2AM: RI=s8H
HE: 59 FMY U
©el: HBRSUSY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Xl 112,500
< 93,750
01 X SHHXN2E = 206,250 641,667 A435,417
Oozad sgil+ =24 206,250
X 112,500
S 93,750
EZMEH EXAY 4,809,606 4,803,698 5,908
= 3,960,852
< 848,754
308 MtXIEHMSOIH 4,809,606 4,803,698 5,908
= 3,960,852
= 848,754
01 HXNHHNBHEELS 4,809,606 4,803,698 5,908
OELMEH EXAY 4,809,606
= 3,960,852
< 848,754
FIIZ2H2 NJALY 11,125,000 10,470,000 655,000
= 11,125,000
308 XAXIEHHSOIA 11,125,000 10,470,000 655,000
= 11,125,000
01 HIXNHHBNEES 11,125,000 10,470,000 655,000
ORJIEHE XNEAE 11,125,000
= 11,125,000
ZEZEH MAAE EUSAY 260,000 156,000 104,000
J| 200,000
< 60,000
403 XIS E X201 H 260,000 156,000 104,000
J| 200,000
< 60,000
01 X SHHX2E = 260,000 156,000 104,000
OZ S EIHl MAAE SUSAS 260,000
Jl| 200,000
< 60,000
RIS X3 A 178,930 137,750 41,180
= 123,400
< 55,530
308 A EHHSOIA 178,930 137,750 41,180
= 123,400
< 55,530
01 HIXNHHNBHELS 178,930 137,750 41,180
ORIIsLAM X& AL 178,930
= 123,400
< 55,530
dEtd MEstA M= XNJAY 252,000 252,000 0
308 XXM SOIA 252,000 252,000 0




2N
X ZH -
L= B

el

SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
01 RXEMBARES 252,000 252,000 0
OFsY MEBEH HE NAY 252,000
RIIs SHES SHMY 252,000 252,000 0
403 XHXI SHHI S Xt 20 ® 252,000 252,000 0
01 HXISH 2L = 252,000 252,000 0
ORII= SHES S4AY 252,000
SI=ASX FTHALY 252,000 252,000 0
403 XX X S X201 & 252,000 252,000 0
01 HXISH A28 = 252,000 252,000 0
ORINSLHX ESAY 252,000
SIl= MEIOIS ZHAY 28,000 105,000 AT7,000
403 XX A S K20l H 28,000 105,000 AT7,000
01 HXSH A== 28,000 105,000 AT77,000
SIls MEIOIZ ZHAY 28,000
AEBSAS USHLSAY 300,000 300, 000 0
308 XXl EHAI S0l & 300,000 300, 000 0
01 RXEBMBARES 300,000 300, 000 0
OFSYSUES ASHHEIAY 300,000
VEHYSMNE ASSI SHAY 180,000 180,000 0
308 XtXI S M SO0l & 180,000 180,000 0
01 HXSHBARES 180,000 180,000 0
OFSYSUE ASEI SLAY 180,000
SIl=e MK BSAL 9,360 9,360 0
308 XXl EHAI S0l & 9,360 9,360 0
01 HXSHBARES 9,360 9,360 0
ORII=e MSI=X 22A 9,360
WEASME SRHE YA 5,000 5,000 0
201 et2 | 5,000 5,000 0
RENEET 5,000 5,000 0
OFSYSS SIS A 5,000
URMAY VLY SHAY 210,000 189,000 21,000
403 XX A S K201 & 210,000 189,000 21,000
01 HXSHIELE = 210,000 189,000 21,000
OYRMNY ASB=e SHAY 210,000
Rz 2oiutzts &t 70,000 20,000 50,000
307 £I20| & 70,000 20,000 50,000
04 QI AAL S B T 70,000 20,000 50,000
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2N
X ZH -
L= B

el

o 0

S~
" (Ui
-

0x 0y
tol

0
0

)
o
o
19

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 80,000 0 80,000
02 ItE M AMHEE 80,000 0 80,000
ORJl=g OHHE sS4 sHMAHE A 80,000
HI=s4g 7o EH2 HE 200,000 0 200,000
307 21201 A 200,000 0 200,000
02 QAHFAAHEX 200,000 0 200,000
ORJII=s4ty CtRUEH2 ME 200,000
It oJ0I(Ex)s =8 Hal 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 IZtE S AHE L 10,000 0 10,000
O2Jtd 9J0I(EBx)=s Z& Nz 10,000
Flls &g EFMHIA &HX =4 650,000 0 650,000
= 500,000
< 150,000
403 Ut SHHS =0l & 650,000 0 650,000
= 500,000
< 150,000
01 HIXSHMA2E X 650,000 0 650,000
ORJls &g SAMHIA XX ZHSAH| 650,000
= 500,000
< 150,000
WAMASI s ot AMA 51,200 12,200 39,000
201 et 30,000 0 30,000
01 At 22l 30,000 0 30,000
O&AIXE HMZ & ISOFAR ZIAMESE 30,000
202 04l 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
ONARIstrHAMATL ERAMEX O] 7,200
203 YR =&t 14,000 5,000 9,000
03 A Z=X AR =AY 14,000 5,000 9,000
OMASRIIssZAAT FX 14,000
SHMADIBEE Y 23,330,250 19,906, 652 3,423,598
= 3,675,000
Xl 16,206,000
< 3,449,250
B ==K & AFS 2,000,000 5,930,000 23,930,000
= 2,000,000
402 RI2EX20l ™ 2,000,000 2,930,000 A 930,000
= 2,000,000
01 SIZtt=2 At B X 2,000,000 2,930,000 930,000




2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

Obi=IH& A 2,000,000
= 2,000,000

NESSLIHLALY 1,590,000 1,240,000 350,000
X 1,590,000

403 XIS E X201 & 1,590,000 1,240,000 350,000
Xl 1,590,000

01 X SHHMA 28X 1,590,000 1,240,000 350,000
ONE=SZHLAS 1,590,000
Xl 1,590,000

SHUTHHI S == & AL 1,226,250 1,226,250 0
= 1,090,000
< 136,250

403 XXM S X201 1,226,250 1,226,250 0
= 1,090,000
< 136,250

01 AXSHMA2E = 1,226,250 1,226,250 0
Oste I E=IHZ At 1,226,250
= 1,090,000
< 136,250

2| BHE Ul AL S 3,803,500 5,152,500 A 1,349,000
Xl 3,381,000
< 422,500

403 XX SHH S X =20/ & 3,803,500 5,152,500 1,349,000
Xl 3,381,000
< 422,500

01 XM A=2EE 3,803,500 5,152,500 A 1,349,000
OgIIetEHI A 3,803,500
Xl 3,381,000
< 422,500

e AN E2 A 7,282,000 4,341,500 2,940,500
Xl 6,473,000
< 809,000

403 XIS E X201 H 7,282,000 4,341,500 2,940,500
Xl 6,473,000
< 809,000

01 XXM A2 £ 7,282,000 4,341,500 2,940,500
o=z&zdX&Eel A 7,282,000
Xl 6,473,000
< 809,000

NZ 22l A& 2 4 AL e 5,358,500 0 5,358,500
Xl 4,762,000
< 596,500

403 AXISHM S X201 A 5,358,500 0 5,358,500
Xl 4,762,000
S 596,500




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
01 AXSHMA=2EE 5,358,500 0 5,358,500
OAZ =l A EMHE = At 5,358,500
Xl 4,762,000
< 596,500
MHol?I® M=Xl HUALS 760,500 585,000 175,500
= 585,000
< 175,500
403 A X EHHS =0l A 760,500 585,000 175,500
= 585,000
= 175,500
01 X EHHMA=E L 760,500 585,000 175,500
OMoHAE M=X HHIAS 760,500
= 585,000
< 175,500
A2 22 AlIEZHIAS 1,299,500 1,100,000 199,500
403 Ut SHHSA=0l& 1,299,500 1,100,000 199,500
01 HXSHMA2E X 1,299,500 1,100,000 199,500
OLnA22AIEdFHAMY 1,250,000
OM=X ¢tdBH & Zc/AIAE 2= 49,500
SHMADIBEAIE At 2tel 10,000 8,000 2,000
202 04l 10,000 8,000 2,000
01 = LH Yl 10,000 8,000 2,000
O=HMADEHAIE AL 2tel 10,000
HERIZH(KRI =L 59,040 55,020 4,020
JlE3l 59,040 55,020 4,020
Jl2&tl 59,040 55,020 4,020
201 L2l 17,740 17,220 520
01 At 22l 17,740 17,220 520
OJle+=EHl 7,240
OJles gl 10,500
202 o4dl 37,800 37,800 0
01 = LH 4 Hi 37,800 37,800 0
OJl20Hl 37,800
405 TtakF S| 3,500 0 3,500
01 AL EFH S 3,500 0 3,500
OdioIMESIEH 2 3,500




